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What 1s Finance ?? \

Art & Science of@naging money |

~—————— e

‘//Raising Money
= Spending
= Lending

‘t—= Investing
‘'—- Accounting
——= Forecasting
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The value of 1 rupee is Worth more
than the Value Of 1 rupee in the future

1990 - 4 FOR 1 RUPEE
2007 - 2 FOR 1 RUPEE

2024 - 1 FOR 2 RUPEE
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Value Of Money Decreases Over time




’ -Time value of money
(Inflation)
-Opportunity Cost
-Liquidity ——
-Risk Factor w;:'\
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Some Important Terms
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_ What is the@teresﬂon a sum of Rs 20,000 at 6%
\\ simple interest for 2 years ?
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What principal will amount to Rs 645 in 15 years at
5%simple interest ?







A sum of money lent out at simple interest amounts to Rs

' { \ 720 after 2 years and to Rs 1020 after a further period of 5 Q&'
years. The principal amount is N
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Of years it would triple itself is

A Sum of money double itself in 10 years , The number
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If Simple interest on a[certain sum]of moneﬁ is —— times

S 5 \ Of principle, if numbers of years is equal to the rate
oH percent of interest ,Then rateis ?
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In what(time)a certain sum of money amounts
to Rs 400 at 10% pa S.I. & to Rs 200 at 4% pa S.I.
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— Compound Interest
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Find the compound amount if Rs 20,000 invested for

\ 4 years at 6% compounded @ﬁnually)
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_ Find the compound amount if Rs 20,000 invested for
. \ 4 years at 6% compounded semiannually
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A certain sum of money is invested at 4 % compounded

annually & the interest for the second year is Rs 25.
Find the interest for the third year

p(1+3) (¥)=25
p (140 0on)[00oN)=25
P~ 6o b
A
Mo (8 fee N

3‘\‘ . T‘_"Y N C 2k \W:Z = — A))- P()_ . ‘i\:"
fp~ (=25 = POiyyY - RCLEY) =

® (1)~ {QRLPELS = Py \k(w 3-)1 ot 8

p (L [0y T\ | T 6914 (104" (o) ml!“



D /

L)
AN
é'ub _
s 4 .
\0/\900()/‘_“—>> ‘SN §
| oo )
‘\—~ \\,pev©

\\oD—
J‘

V2 )\DOA\AL







=€~ €A

Plivey - T— Yif3)
\’i ) =\ — EXX

Py P

P2t \= Pt ()



The Difference between simple interest and compound
interest on Rs P for 3 years at 6 % p.a. is 110.16.

Then the value of P ?
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A man made a deposit of Rs 2,500 in a saving
account. The deposit was left to accumulate at 6%
compound rate quarterly for the first 5 year and at 8%
compounded semi annually for the next 8 years find
the compound amount at the end of the 13 years
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A National Saving Certificate costs Rs 15 and realizes Rs
20 after 10 years Find the rate of C.I. if it is compounded
annually
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second year, the population increased by 20%.During

the third year ,the population increased by 10%.Find the

population after 3 years
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The annual birth and death rates per 1,000 are 30
and 10 respectively. The number of years in which

the population will be doubled assuming there is no
Immigration or emigration
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A machine is purchased for Rs. 10,000. It is depreciated at a

X\ constant ratr the first 4 year and after that at(10% /

for the next 6 year. Find the value for the machine after a

—— “

period of 10 years?
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N X - An asset costing Rs.2,000 will depreciate to a scrap value of
s ‘ Rs.160 in 10 years. Find the rate of depreciation
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What@?f&tive ratgs equivalent to a nominal rate of 8%

s ‘ converted quarterly?
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¥ To what amount will Rs{12,000 faccumulate in 12 years if
LS ‘ invested at an(effective fate of 5%?
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Present Value
\ ture Value
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How much should be invested at@_"/: per annumjso that

after 4 years the amount will be Rs 2,500 when the interest
" isannually
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Find the[present valuePof Rs. 500 due 10 years hence when

D s ——

the interest of 10% is compounded half yearly
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Mr. X borrows Some money from Mr. Y and agrees to pay

| Rs 5,000 in two years , Rs 7,000 in four years and a final
’ payment of Rs 2779 at the end of five years if the interest

rate is 6.183 % compounded annually, how much did he
borrow ?
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Future Value Of
Regular Annuity
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Find theﬁmounaof an regular annuity Of Rs 1000 payable at
the end of year for 3 years at 10 % compounded annually







. To save for a child’s education, a family decides to invest Rs
' 3000 at the end of each 6 month in a fund paying 8 % per year
~“  compounded semiannually .Find The amount of investment at

———— e

the end of 18 years




A person wants to accumulate Rs(50,000 by making equal

“H payments at thof each @Jarter forfthenext 5 years)Nhat

will be the size of these investments if money is worth 6 % R= SoN
P
converted quarterly y 25
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| Present Value Of
Regular Annuity
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Mr. A borrows Rs 5lakh to buy a house. If He pays equal annual

' installments for 20 years and 10% interest on outstanding
“ balance, then what will his annual installment ?
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Suppose your father decides to %hlyou R0,0 ry
nex

s - year ftarting from todayfor the(hext 10 years, yoy deposit
=~ this amount in a bank as and when you receive and _get
er annum interest rate compounded annually. What

is the future value of this annuity?
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' It is th m reated for a@_éecified D

Qy way of sequence of periodic

payments over a time period
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S®) machine cost 2520000 with an estimated life of
=X\ (25 years ) A sinking fund is created to replace it by a
< ~¥new model at ZS%QLgber cost after 25 years with a scrap
value realisation of25000,what amount should be set
Pa asude every year if sinking fund investments accumulate

at 3.2 it 3.5% com pound mterest p-a.
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Net present value (NPV) is the difference between the

present value of cash inflows and the present value of
cash outflows over a period of time.

NPV is used in Capital budgeting and Investment
planning to analyze the profitability of a projected N

Investment or project.
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~~ X\ Rs 1 lakh and net cash flows for year one is Rs 55000,
= ~for year2Rs 80000 and For Year Three is Rs 15000,
Further the company’s cost of capital is 10%
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- annum payable annually starting from the end of first year ,
| supposed rate of interest is[14% per}nnum compounded

!}m annually on which money can be invested in the company .is
this agreement favorable to the company?
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o leaging it for 4 years at an annual rate of RS 1250. Which
* course of action is preferable if the company can borrow
<% money at 14% compounded annually ?

.’**machine either by making full payment of RS 4000 or by




= - A machine can be purchased for Rs50000. Machine will

contribute Rs12000 per year for the next{ﬁve years.JAssume
P’ borrowing cost is 10% per annum compounded annually.

Determine whether machine should be purchased or not
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S  Bond Valuation

-Bonds are_long-term Debt Securities

-Issue By Govt or Companies To Raise Funds

-Investor Receive periodic interest payments
-At matur,y,mvestor also gets redemption

price (Usually face value) I
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Arjun Intends to purchase aRs 1000 par value

bond having nominal interest rate of 10% .At what price

| ““the bond should be purchased now |f It matures at par and
w  the investor expects a return off 14% 7 ||
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RN Perpetual Annuity (Q W> WY

-Also Known as perpetuity

P -Sequence Of payments Continuing Forever
-No ending Date
-Only present value can be determined
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\\ ) If Money is worth 8% per annum compounded quarterly

find the present value of a perpetuity of Rs 1000 payable
at each quarter
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If Money is worth 4% per annum compounded annually
find the present value of a perpetuity of Rs 4500 payable
at the beginning of each year







N Groing Peretuity

Periodic Payment increases at a constant rate
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If Money is worth 4% per annum compounded annually
find the present value of a perpetuity of Rs 4500 payable
at the beginning of each year
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\_ If the perpetuity entitles to a payment of amount Rs 100 at
—%. the end of first year that will(grow at a rate of 5% gnnually.

| D Find the present value iffdiscount rate is 15 %




Compon Annual

\ Growth rate

L —

CAGR tells you the average rate at which an

investment has grown over a specified period.

Time | 20y ‘LD\‘\X‘L\\‘) tolh |\ 29|}
Saly |2 so 354 M2
\2







2o 2 53

~| 20\'% polt
ﬁ* S w 2\ [LMO [ B

71D N
()



e —

Compoun Annual
) Growth rate

—

CAGR tells you the average rate at which an
iInvestment has grown over a specified period.
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